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>$ cd <$0-TOP>

>$ cp /home/ss/aics60/C/ex-c.tar .
>$ cp /home/ss/aics60/F/ex-f._tar .

>$ tar xvf ex-c.tar
>$ tar xvf ex-f.tar

>$ cd multicore
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— <$0-ex>/src, <$0-ex>/run
e OIS, EITAE

— KIK

e cd <$0-ex>/src

e make

e <$0-ex>/run/ex-sol (E{7fz=)
—ayvkO—)LT—%4

e <$0-ex>/run/ INPUT _.DAT
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Z&E {5 (poi gen)
L TOFIZBNTIEEIE A 75 DH=6 (=3+3)

IC-- 1D array

allocate (indexL(0:nn), 1ndexU(0:nn))
indexL= 0
indexU= 0O

do icel= 1, ICELTOT
indexL(icel)= 3
indexU(icel)= 3
enddo

do i1cel= 1, ICELTOT
indexL(icel)= indexL(icel) + indexL(icel-1)
ggdexU(icel)= indexU(icel) + indexU(icel-1)
enddo

NPL= 1ndexL(ICELTOT)
NPU= 1ndexU(ICELTOT)

allocate (itemL(NPL), AL(NPL))
allocate (itemU(NPU), AU(NPU))

itemL= O

itemu= O
AL= 0.dO
AU= 0.dO



OMP-4 6
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THI R DAOIZTE BB I3t 9 B 51FE S ICELTOT+icou

icou= 0
do 1= 1, ICELTOT
do k=1, 3
it (|temL(|ndexL(| 1)+k) .eq-.0) then
icou= icou + 1
itemL(indexL(i1-1)+k)= ICELTOT + icou
endif
iIT (icou.eq-N2) icou= 0O
enddo
enddo

icou= O
do i= 1, ICELTOT
do k=1, 3
it (|temU(|ndexU(| 1)+k).eq.0) then
icou= i1cou + 1
itemU(indexU(i-1)+k)= ICELTOT + i1cou
endif
1T (icou.eq-N2) icou= 0
enddo
enddo

ICOU: -

N2: %Ux%%uyﬂ(wuz(iz%)L STEYT D
PHI (ICELTOT+N2)
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THRGRILFE: O DEEEZH L TH L (1/3)

do 1= 1, N
VAL= D(i)*W(i,P)

do k= indexL(1-1)+1, indexL(1-1)+3
VAL= VAL + AL(kK)*W(itemL(k),P)
enddo

do k= i1ndexU(i-1)+1, indexU(i-1)+3
VAL= VAL + AU(K)*W(itemU(k),P)
enddo

W(1,Q)= VAL
enddo

W(ICELTOT+N2,4)
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do 1= 1, N
VAL= D(i)*W(i,P)

do k= 1, 3

kk= (1-1)*3 + Kk

VAL= VAL + AL(kkK)*W(itemL(kk),P)
enddo

do k= 1, 3

kk= (1-1)*3 + k

VAL= VAL + AU(kk)*W(itemU(kk),P)
enddo

W(1,Q)= VAL
enddo

W(ICELTOT+N2,4)
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FHIRIRLEE : DM DEEEL Tk (3/3)

do 1= 1, N
VAL= D()*W(i,P)
do k=1, 3

kk= ( ~1)*3 + k
VAL=VAL™ + ALCKKY*WCitenL (k) ,P)

& AU(kK)*W(itemU(kk) ,P)
enddo
W(r,Q)= VAL
enddo
do 1= 1, N
VAL= D()*W(i,P)
do k= 1, 6

kk= (1-1)*6 + k
VAL= VAL + AMAT(kk)*W(itemLU(kk),P)
enddo

W(1,Q)= VAL
enddo



